
1. Solve the followin . g system of three equations with fi k · ve un nowns. 

2x1 + X2 - 3xs = -2 
X2 + X4 .!. 5x - 6 3 5 -

- X1 + X3 7 2xs = -1 

If the system is consistent, identify . your particular solution and th h e omogenenous solution. 
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2. Determine if th comb· e follo"in ma.tion of th g set of vecto . e other. rs are mdepend w l [ ~21 [e:t 
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. If [ t~:ylar } e not, write one of them as a linear 
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3. Answer the · questions about the followin . g linear transformation. 

T: R3 --+ 

[~~i --+ [ 2x1 - X2 + XJ ] 
X3 X1 + 4x2 - 2x3 

(a) What are the domain and d . \ \ i co omam of T? \Vb..icb "'""' v1vJ 1 \'?.~ . matrix represents T? 
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(c) Is Tone-to one? 
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4. (a) True or false? A set of two vectors is linearly dependent if and only if one is a scalar multiple of 
the other. Explain. 
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(b) True or False? If 11\.> n, any set of m vectors in Rn spans Rn. Explain. 
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(c) Give an example of a non zero linear transformation T: R2 -+ R2 which is not onto. If such an 
example does not exist, etlain why not. • 
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( d} Give an example of a set of three vectors which a.re linearly independent and do not span IR3. If 

such an example does not exist, expla{n why not. _ r\. 
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(e) Give an example of a linear system with more variables than equations that has no solution. If 
such an example does not exist, explain why not. 
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